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1. If ,show that 

Watch Video Solution

x sin α = y cos α =
2z tan α

1 − tan2 α

(x2 − y2)
2

= 4z2(x2 + y2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0IENgP6ZCGrS


2. If , then prove that

.

Watch Video Solution

(a2 − b2)sin θ + 2ab cos θ − (a2 + b2) = 0

tan θ = ( − )
1

2
a

b

b

a

3. If  and 

,.Prove that 

Watch Video Solution

+ = a2 − b2ax

cos θ

by

sin θ
− = 0

ax sin θ

cos2 θ

by cos θ

sin2 θ

(ax)2 / 3 + (by)2 / 3 = (a2 − b2)
2 / 3

4. If ,show that 

Watch Video Solution

+ = 1
cos4 x

cos2 y

sin4 x

sin2 y
+ = 1

cos4 y

cos2 x

sin4 y

sin2 x

5. Show that ≤ ≤ 3
1

3

sec2 θ − tan θ

sec2 θ + tan θ

https://dl.doubtnut.com/l/_ds9QbWgbobCp
https://dl.doubtnut.com/l/_5SZRmKNz0sRP
https://dl.doubtnut.com/l/_Zw2wVE3kF5rc
https://dl.doubtnut.com/l/_5SwM8h7f8q3n


Watch Video Solution

6. If ,show that 

Watch Video Solution

sec θ = sec αs sec β + tan α tan β

tan θ = ± (sec α tan β + tan α sec β)

7. If

,show that 

Watch Video Solution

n2 sin2(α + β) = sin2 α + sin2 β − 2 sin α sin β × cos(α − β)

tan α = tan β
1 ± n

1 ± n

8. If and 

show that 

Watch Video Solution

(a + b)tan(θ − ϕ) = (a − b)tan(θ − ϕ)

a cos 2ϕ + b cos 2θ = c a2 − b2 + c2 = 2a cos 2ϕ

https://dl.doubtnut.com/l/_5SwM8h7f8q3n
https://dl.doubtnut.com/l/_1OVNei9MjMee
https://dl.doubtnut.com/l/_U6UdQSwf3nL0
https://dl.doubtnut.com/l/_expfCIWdpYDR


Watch Video Solution

9. If ,show that and hence prove

that the value of does not lie between 1/3 and 3

Watch Video Solution

= λ
tan 3α

tan α
=

sin 3α

sin α

2λ

λ − 1

λ

10. Prove that

Watch Video Solution

cos8( ) + cos8( ) + cos8( ) + cos8( ) =
π

8

3π

8

5π

8

7π

8

17

16

11. Solve :

Watch Video Solution

√tan x + sin x + √tan x − sin x = 2 cos x√tan x

https://dl.doubtnut.com/l/_expfCIWdpYDR
https://dl.doubtnut.com/l/_fOkHWexrwilZ
https://dl.doubtnut.com/l/_zPHdI3mbJsfD
https://dl.doubtnut.com/l/_wgrKqcLp2v32


12. Solve :

Watch Video Solution

3sin 2x + 2 cos2 x + 31 − sin 2x + 2 sin2 x = 28

13. Solve :

Watch Video Solution

tan(x − )tan x tan(x + ) =
π

4

π

4

4 cos2 x

tan( ) − cot( )x

2
x

2

14. Solve :

Watch Video Solution

√2 cos2 x + 1 + √2 sin2 x + 1 = 2√2

15. Show that

cos( ) + cos( ) + cos( ) + cos( ) + cos( ) =
π

11

3π

11

5π

11
7π

11

9π

11

1

2

https://dl.doubtnut.com/l/_gAf62I5RCJ5I
https://dl.doubtnut.com/l/_IpWOG7NIT2BU
https://dl.doubtnut.com/l/_loMoObPCoU73
https://dl.doubtnut.com/l/_YcJ9ZxYuc2sH


Watch Video Solution

16. In an acute angled triangle ABC, show that

Watch Video Solution

tan2 A + tan2 B + tan2 C ≥ 9

17. If the medians of a triangle ABC makes angles , , with each

other then show that

.

Watch Video Solution

α β γ

cot α + cot β + cot γ + cot A + cot B + cot C = 0

18. If and ,show

that 

Watch Video Solution

cos3 θ = k cos(α − 3θ) sin3 θ = k sin(α − 3θ)

2k2 − k cos α − 1 = 0

https://dl.doubtnut.com/l/_YcJ9ZxYuc2sH
https://dl.doubtnut.com/l/_x1pXrHOSPSoQ
https://dl.doubtnut.com/l/_SA6LlXxzKuqR
https://dl.doubtnut.com/l/_y57Ba2Tl2uPy


Watch Video Solution

19. show that 

Watch Video Solution

cos2( ) + cos2( ) + cos2( ) =
π

9

2π

9
4π

9

3

2

20. Show that + - =

Watch Video Solution

tan 70∘ tan 10∘ tan 50∘ √3

21. In , show that the minimum value of 

is 1.

Watch Video Solution

△ ABC

tan2( ) + tan2( ) + tan2( )
A

2
B

2
C

2

https://dl.doubtnut.com/l/_y57Ba2Tl2uPy
https://dl.doubtnut.com/l/_d5wM3HTXAeHS
https://dl.doubtnut.com/l/_wr6KMPLNYsc2
https://dl.doubtnut.com/l/_KG9IdvEJTg6u

